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Exercise 1

Calculate the following subtractions :

9928 - 424 =

8366 - 113 =

9194 - 181 =

9957 - 406 =

3429 - 419 =

8145 - 133 =

4698 - 570 =

5869 - 427 =

8564 - 202 =

7698 - 118 =

4583 - 450 =

3549 - 421 =

Exercise 2

Calculate the following subtractions :

7873 - 252 =

7969 - 331 =

7732 - 511 =

2699 - 325 =

7989 - 536 =

7657 - 420 =

9417 - 115 =

9701 - 301 =

3578 - 108 =

1284 - 140 =

3935 - 533 =

7659 - 231 =

Exercise 3

Calculate the following subtractions :

7972 - 451 =

7547 - 235 =

3889 - 429 =

6517 - 314 =

2588 - 171 =

1967 - 767 =

5996 - 593 =

8899 - 739 =

6595 - 364 =

5669 - 235 =

6958 - 605 =

1976 - 316 =

Exercise 4

Calculate the following subtractions :

4923 - 400 =

5295 - 261 =

7490 - 410 =

3918 - 713 =

4366 - 134 =

3564 - 444 =

6993 - 313 =

4884 - 112 =

4853 - 401 =

9998 - 781 =

6378 - 112 =

2874 - 630 =
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